Revision Exercise (Quadratics)

1.

a) (i) Lz +3)—1 e) (i) —1(z — 2)*+ 3 i) (i) 20(z + 5)* = 2

b) (i) 1z +4)2 —1 £) (i) 2(x + )* = 2 j) (i) —10(z — 55)* + ¢

¢) (i) 1(z+1)>—-16 g) (i) =5z + 1)+ %

d) (i) 1(z+5)2? -1 h) (i) 16(z — 3)* — 4

1.

a) (ii) (=3, —1); Minimum e) (i) (¥, 1); Maximum i) (ii) (=%, —%); Minimum
b) (ii) (—4, —1); Minimum f) (i) (=, —%); Minimum  j) (i) (&, 22); Maximum
c) (ii) (-1, —16); Minimum g) (i) (—3%,3); Maximum

d) (ii) (=5, —1); Minimum h) (i) (5, —4); Minimum

1.

a) (ili) c =8 c) (iii) ¢ = —15 e) (iii) ¢ = —56 g) (ili) c =4 i) (iii) ¢ =3
b) (iii) ¢ = 15 d) (iii) ¢ = 24 f) (iii) ¢ = 15 h) (iii) ¢ = -3 j) (i) c =6
1.

a) (iv) z = —2,—4 d) (iv) x = —4,—6 g) (iv) z = —2,2 j) (v) z=—-1,¢
b) (iv) z = =3, -5 e) (iv)e=717,8 h) (iv) o =3, -3

c) (iv) x =3,-5 f) (iv) z = —2,-5 i) (iv) x = —55, -3

2.

a)z? —3r+2=0 e) b’ +2lr+4=0 i)2? — (2a+ 1)z +ala+1) =0
b) 22 — 5z —6 =0 f) 1022 +2 =0 j) 2> —(a+5)z+3(a+2)=0
c) 2 +2x —3= g) 2522 —1=0

d) 422 —3x — 1= h) 22 —ax+3a®> =0

3.

a) 2> —5x+6=0 e)a? -8z + 3= i) 2* — 3kx 4+ 2k* = 0

b) 22+ 3z +2=0 f) 22 +2—12= e = (%) +1=0
c)x?—x=0 g)a?—322+3=0

d) 2% — 12z + 35 =0 h) 2 + 20— 5 =0









5.

a) (i) 2> — 372 + 36 =0
b) (i) 22 — 17z + 16 = 0
c) (i) 2 — 65z +64=0

5.

a) (i) 22+ 2z + 2 =0
b) (i) 2® + Lo+ § =0
¢) (i) 2? + 22— 2 =0

D.

a) (iil) 22+ 2 —-6=0
b) (i) 22 — 2 — 2 =0
¢) (i) 22 — 132 + 22 =0

5.

a) (iv) 22 + 17z + 66 = 0
b) (iv) 22 + 152 + 54 = 0
¢) (iv) 22 + 32— 18 =0

5.

a) (v) 22 =z +1=0
b) (v) 2 =Lz 4+1=0
¢) (v) 2?+ 22 4+1=0

5.

a) (vi) 22 — 451 + 200 = 0
b) (vi) 2% — 252 + 100 = 0
c) (vi) 2> — 73z + 340 =0

5.

a) (vii) 22 +217x + 216 = 0
b) (vii) 22 + 652 + 64 = 0
¢) (vii) 22 — 511z — 512 =0

d) (i) 2 — 22 4+36=0
e) (i) 22 — 41z +400 =0

£) (i) 22 — g 4 49

d) (ii) 22 + L2+ 3 =0
e) (il) 2 = Zz + 2 =0

f) (ii) 2 = 2z + 2 =0

d) (ili) 2> — 32— 2 =0
e) (iii) 22 — 152 +56 = 0

f) (iii) 2® — Br + 5 =0

d) (iv) 22 + Sz + 55 =0
e) (iv) 2+ 2 =0
f) (iv) 2 + 2 +12=0

d) (vi) 22 — Pz +125=0
e) (vi) 22 — 49z + 580 = 0

f) (vi) 2? — o+ 1522 =0

d) (vii) 2 + %22+ 216 = 0
e) (vii) 22 — 189z + 8000 = 0

f) (vii) 2 — ZHa + 32 =0

4

g) (i) 2* —

109 225 _
7T+ 5 =0

h) (i) 2? — 22+ 155 =0

g) (i) 2> = Iz —2=0

h) (ii) 22 4 42z + 360 = 0

1600

5.. 0 _

ST —9=

113 319

5ol + 5 =0

g) (iv) 22+ Zx4+35=0

h) (iv) 2% +

207
20 ¥

1071 __
+ 40 0

g) (v) 2+ Pr+1=0
h) (v) 2> =22 4+1=0

g) (vi) 2

h) (vi) 22 —

141
1 T

3229

+ =90

32290 4 5213 _ )

400

320

g) (vii) 2* 4 2Pz — BB =0

h) (vii) 22 +

133
8000

8

1 _
7+ a0 — Y



5.

a) (vili) 2% + 22 +6 =0
b) (viil) 22 + Lz +4=0

c) (viil) 22 + 2tz —8 =10

5.
a)(1x)x2—%x+% 0

119 49 _
b) (ix) 2? = e+ 3 =0
c)(lx)xz—%x%—% 0
5.

a) (x) 22 —30x — 175 =0
b) (x) 2% — 122 — 45 =0
c) (x) 2% — 72z + 567 =0

5.

~ 9 1 _
a) (xi) 2 + e+ ;=0
b) (xi) 2* + Hx + 15 =0

¢) (xi) 2?2+ 2z — £ =0

D.
a) (xii) 2% + 26z + 69 =0

b) (xii) 2% + 18z + 45 =0
¢) (xii) 2 — 30z — 99 = 0

5.

a) (xiii) 2% — 30z — 175 = 0
b) (xiii) 22 — 122 — 45 =0
¢) (xiii) 22 — 72z + 567 = 0

5.

a) (xiv) 22 — 31z + 259 =0
b) (xiv) 22 — 13z + 85 =0
¢) (xiv) 2% — 73z — 455 =0

d) (viil) 22 + 222 +6 =0
e) (viil) 22 — Bz +20 =10

f) (viii) 22 = 2+ =0

d) (ix) 22 —2Hz+ 53 =0

144
e) (ix) xz—%m—i-%:o

f) (ix) 2? — 22 4+ 36 =0

d) (x) 2> =3z -2 =0
e) (x) % — 50z + 609 = 0

f) (x) 22 — Wy 4 3BT =

d) (xii) 22 + 20z + 75 =0
e) (xii) 22 — 387 + 357 = 0
f) (xii) 2* = P +31=0

d) (xiii) 2* — 3z — 22 =0
e) (xiii) 22 — 50z + 609 = 0

f) (xiii) 2® — o+ 2L =0

d) (xiv) 2? — Do+ 35 =0
e) (xiv) 2 — 351z + 231 =0

f) (xiv) 2? + 2z — 22 =0

5

h) (viil) 2% + 38z + 5 =0

g) (ix)xQ—%m—F%:O

h) (ix) 2% — 812z + 78400 = 0

111 9 _
h) (x) 2° + 3557 + 15655 = 0

g) (xii) 22 4+ 122 — 133 =0

h) (xii) 22 — 22 =0

h) (xiil) 2% + Ee + 2 =0

g) (xiv) a? — 2y 4+ 88 =0

h) (xiv) xz—%erﬁ:O



&

a) k =15. Root = —5.

¢) p=17. Root = —2.

d) ¢ = 100. Solutions: = —20 and z = —5.

e) r = +8.
When r = 8, solutions are x = —1 and z = —7.
When r = —8, solutions are x =1 and x = 7.

f) a=09.

7.

a)r=-3,—-1,1,3

b) x = —4,4

c)r=-2-11,2

d) o =-2,-1% 3,2

8.

a)x=0,2

b) z =0,2

c)x=2,3

d) z=2

e)r=1,3
f)z =12
g)x=9,16
h)z=4
e)x=0,-3
flz=1
g)z=0
h)le,%



